Monday 23rd March 2020
Find  of a number, shape and quantity (EXTENSION: Reasoning)

[bookmark: _Hlk35527315][bookmark: _Hlk35527316]Thursday 14th May 2020
Lesson 4: Find change
	1. George has the coins below.
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	2. [image: ]Lyra has the coins below.

	3. Harry has the coins below.
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	4. [image: ]Anne has the coins below. 

	5. True or false? Use a number line to help you work out the answer. 
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	6. [image: ]True or false?  Use a number line to help you work out the answer.

	7. Complete the bar model.
[image: ]
	8. [image: ]Complete the bar model. 

	9. Monika has £1 and is given the coins below as change.
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	10. [image: ]Avery has 90p and is given the coins below as change.
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11a. Complete the bar model. 11b. Complete the bar model.

ninety-seven pence eighty-six pence
twenty-seven
I ? ?
sixty-nine pence pence

A “| A

12a. Daniella has seventy-six pence and | 12b. Jackson has eighty-four pence and

is given the coins below as change. is given the coins below as change.
4 lots of 2 lots of 7 lots of 7 lots of 4 lots of 2 lots of
5p coins 2p coins 1p coins 1p coins 10p coins 5p coins
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8a. Monika has £1 and is given the coins
below as change.

8b. Avery has 90p and is given the coins
below as change.

©000o®0 90000

Which item did Monika buy? Which item did Avery buy?

‘ b6p 56p 51p

61p
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8a. Monika has £1 and is given the coins | 8b. Avery has 90p and is given the coins
below as change. below as change.
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Which item did Monika buy? Which item did Avery buy?
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Find Change Find Change

1a. George has the coins below. 1b. Lynn has the coins below.
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He spends 30p. She spends 20p.
Tick the correct change. Tick the correct change.
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5a. Seth has the coins below. 5b. Claire has the coins below.
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He spends 23p. She spends 19p.
Tick the correct change. Tick the correct change.
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9a. Beth has the coins listed below.

3 lots of 3 lots of 2 lots of
20p coins 5p coins 1p coins

She spends 43p.
Tick the correct change

Find Change

9b. Will has the coins below.

coBo 09

He spends 37p.
Tick the correct change.

3 lots of 10p coins
1 lot of 20p coins

1 lot of 2p coins

5 lots of 5p coins
1 lot of 20p coins

6 lots of 1p coins
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